TORTS OUTLINE
I.
INTRODUCTION AND THE ROLE OF FAULT
a. Tort = a civil wrong

i. About determining who bears the loss

b. Recovery includes for: physical harm, emotional harm, sometimes economic harm

c. General rule: tort liability requires fault; there are exceptions 

i. Fault can be either: intentional or negligence 
1. Negligent Misconduct – acting unreasonably 

a. Children cannot be held for fault through because they cannot think rationally: foresee the consequences or weigh costs and benefits.
2. Intentional Misconduct

a. Must understand what he is doing is wrong. 
ii. Ex: Van Camp v. Mcafoos
1. D, 3 yr old, ran his tricycle into P injuring her leg. Court found for D because P did not allege fault. To meet Prima Facie case, P must allege facts showing fault in order to recover for injuries. P did not allege facts that support a finding of fault, thus did not meet prima facie case. P loses.
d. Plaintiff has burden of proving the Prima Facie case 

e. Plaintiff has to prove fact by a preponderance of the evidence; so by 51%

	HYPOS

1) H becomes angry with his wife, W, and repeatedly hits her with his fist, breaking her jaw and bruising her face. Would the principle or idea in Van Camp either establish or exclude liability?
· Clear case of intent to cause fault.
2) The D’s yard has a tree near the sidewalk. The tree appears to be sound and healthy, but in fact it is rotten and it blows over in a wind. It strikes a passerby. Can you predict from Van Camp whether a court would impose liability?
· No. Owner of the tree must have been on notice….for example, this was the 4th tree, and the last three had fallen. 

3) Car veers out of control and hits you on the sidewalk. Can you recover?

· Were they speeding?  Was something wrong with the car? – If on notice, there may be possible fault. 


II.
INTENTIONAL TORTS
Intent and Intentional Torts 
A. 1) Battery 

a. A battery is the intentional infliction of a harmful or offensive contact. 
b. Society wants to protect an individual’s bodily autonomy 
c. Elements

1. Harmful or Offensive Contact 

1. Offensive Contact Test -- Does it offend a reasonable sense of personal dignity?  Offensive touching defined as a touching that offends a reasonable sense of personal dignity.  
2. Harmful -- D has to commit an act that causes the touching (but does not directly have to touch P) 

a. Ex: The intentional grabbing of a plate from someone’s hand constitutes battery bc the intentional snatching of an object from one’s hand is as clearly an offensive invasion of his person as would be an actual contact w/ the body.

b. Tobacco smoke hitting someone’s face is usually a battery but sound waves usually are not because contact originally has to be seen

3. Must be a volitional act (voluntary), a product of the D’s will 
a. Hypo -- The Pool Accident Someone is standing by the side of the pool, and someone pushes in the pool and that person injures someone in the pool. Sues the guy who fell on him. No volitional act. It was not a product of the D’s own will.
4. Snyder v. Turk --- P was an operating nurse and D was a doctor performing on someone’s gallbladder. Doctor was given a small instrument and grabbed the P’s shoulder and pulls her into what he is working on and states I need big instruments.

a. Battery was the physical contact and pulling her down.

5. Cohen v. Smith -- P informed the hospital staff that her religion does not allow a male seeing her naked. 
a. The Battery (Offensive) contact in this case was touching the P’s unclothed body. 
b. Does not matter if a reasonable person would not mind being touched; every individual has autonomy over their own body. 
	HYPOTHETICALS 

Ex #1: Karen Whitley was standing in front of her locker at school when LeGault shoved her. The shove caused no physical harm. LeGault argued that she was not liable because (1) no harm was done by her shove and (2) no intent to harm was proven. 

· Does it offend a reasonable person of sensible personal dignity?  Yes. It was an offensive contact.

Ex #2: The D‘s employer was engaged in teasing and horseplay with an automobile condenser that had been electrically charged, giving employees a mild shock. He shocked the P, who was trying to avoid it. The P, quite unexpectedly, developed a serious nerve problem that required surgery.

· Was a harmful contact as he was shocked and he tried to avoid it. 

Ex #3: P’s employer refused to allow P’s to bring their own meals to work or let them leave the workplace for meals. P let the employer know that because of religious reasons they could not eat beef-pork meatballs. The employer would said it would switch to turkey meat balls, which it did, but it then switched back to beef-pork without letting the employees know. Battery? 

· Like the Cohen case, thus it was battery. There was an offensive contact.

Ex #4: Auto Accident and doctor attends to an unconscious patient on the side of the road. He saves the person’s life.  Did the doctor commit a battery?

· Probably did not have intent. Was an offensive contact 

Ex #5: Snatching a Plate from someone’s hand? 

· No contact with the person, but the court is willing to find that is sufficient contact since the plate is connected to the person’s hand. 

· Another example: Clothing

Ex #6: Someone blew tobacco smoke on his face? Harmful contact or Offensive Contact?

· Offensive Contact. 

Ex #7: Neighbor plays song over and over again. 

· Not really offensive. The contact is the sound waves. They have to be physically nature. And sound is not the kind of thing that could be thought of as a contact. 


2. Intent (Reckless, Willful, or Wanton)
1. ELEMENTS:

a. Purpose (Goal) to cause a harmful or offensive contact OR

b. Knowledge that a harmful or offensive contact is substantially certain to occur
2. Garratt v. Dailey -- Brian moved chair as Ruth was sitting. There are two versions of the facts. Brian’s facts -- D moved the chair, and once he did that he realized she was going to sit there, he tried to move it back. Court determined that when Brian moved the chair he did not have any PURPOSE to affect the P, thus no intent.
a. Since he was 5, he probably wasn’t able to make the connection to be substantially certain that pulling the chair would cause the harmful contact

3. AGE FACTOR:

a. Most states still apply the same definition for adults to children, but a question of if the child is old enough to have the requisite intent: purpose or knowledge 

b. Other states have cutoff points (Under age 7)

c. Simply apply the definition and treat as a question of fact.
d. Damages that a Plaintiff can Recover for an Intentional Tort
1. Nominal damages: valued at $1. This is the minimum recovery. No need for physical harm.

1. If elements of a battery are present, but no physical harm, at a minimum entitled to $1 for nominal damages. 

2. One of the distinguishing feature of intentional torts and negligent torts is that there is no such thing as nominal damages in negligent torts

2. Economic damages: these can be substantial.  Includes medical bills, lost wages.

1. Intended to compensate for the harm that happened to you

3. Pain and Suffering and Emotional Distress -- Called non-economic damages
1. Intended to compensate for the harm that happened to you

4. Punitive damages are possible. 

1. Punish people for what they did.
2. Not common generally
5. Parasitic Damages – emotional aspect to the physical harm that was caused. 

1. Once the element for the tort are met, D is liable for all the consequences; some of those consequences can be emotional 
2. Can only get for trespass to chattels
	HYPOTHETICALS – WAS THERE A BATTERY?

1) The football incident – seeing him talk to his ex/significant other. D sees P at an extreme distance, and picks up a football hoping to hit the P. He generally can’t hit that long enough, but he was able to.
a. Harmful or Offensive Contact – yes, there was a harmful contact – football hitting the P

b. Intent – Apply Both 

i. His goal/purpose was to hit the P thus he had the purpose to cause the offensive contact 

ii. He did not have substantially certain knowledge that the harmful contact would occur because he generally can’t hit that long 

2) Person goes to tall building in LA, and goes to the top of it, and sees the sidewalk. He drops the brick and prays that the brick does not hit anyone. Unfortunately, the brick hits the plaintiff.
a. Intent 

i. His goal or purpose was not to hit anyone 

ii. He was substantially certain that if he hit the brick down it would hit someone (could argue if it was at night he probably did not know cause not as busy)

b. Harmful or Offensive Contact 

i. The brick hitting the P was a harmful contact. 

3) People who are smoking outside, and the person had to go through the smoke to get there location.
a. Harmful or Offensive contact 

i. Smoke hitting someones face is generally a battery

b. Intent 

i. Arguably for knowledge, they are substantially certain that the contact would occur. Have to know people are walking through.

ii. His goal/purpose was probably not to cause the contact

4) Bar fight between the D and P. He punches the P and broke his nose. D said it was an accident. 

a. He would have knowledge 

b. Given the heated discussion, do we believe the D? 




e. Single v. Dual Inetnt

1. White v. Munoz –P is trying to change an adult diaper where she gets struck in the face by D, and she sues for battery. 

1. Intent 
a. P’s lawyer said the last sentence of the instruction is wrong – “she must have appreciated the offensiveness of her conduct.” As generally people with these illnesses do not know what they are doing. She must have appreciated the offensiveness of her contact.

2. Issue -- Do you have to prove that he intended to cause harm or that he intended to cause the contact that intended to be harmful?

a. Dual Intent (Majority)– Purpose has to be to cause harm through the contact 

b. Single Intent -- only have to have purpose to cause the contact that turned out to be harmful

3. Because of D’s mental state, she may not appreciate that her actions (contact) caused harm, thus not meeting dual intent. She would meet single intent. 
2. Wagner v. State -- P was attacked from behind by a mentally disabled patient, Sam Geise. If this was a battery, state was immune from liability. Utah adopted single intent, thus was a battery. Dismissed. 
	TWO HYPOTHETICALS 

1) Long Lost Arm-- Uncle who gives hug and somehow injures there neck 

a. Under duel intent, he did not have the purpose or knowledge that he would hurt his neck when he hugged him. Thus, did not intend to cause harm through the contact.

b. Under single intent would be held liable as he intended to cause the contact that turned out to be harmful.

2) The Egotistic Kisser – goes to kiss someone, and they continue to kiss as they do not think no means no. 

a. Single Intent – yes because they intended to cause the contact 

b. Duel Intent – did not have the intent as had no purpose to cause an offensive contact or no knowledge that an offensive contact would occur.


f. Intent and Insanity 
1. General Rule -- Treat the insane or mentally ill like any other plaintiffs. The reason why they have that intent is irrelevant.  
2. Polmatier (P. 52) -- Son-in-law (D) beats and kills father-in-law. Defendant certainly has intent for battery. But:  The intent is caused by mental illness.
3. Hypo # 1 -- Person is insane and believes he is Napoleon Bonaparte, and thinks his caregivers are preventing him from getting into the battlefield. He structures the head of his caregiver to make his escape.

1. He did commit battery – had requisite intent.

4. Hypo #2 -- D was suffering from epilepsy and went in a catalotic state where he was unconscious. he was unable to control his actions and 

1. Did not have purpose to cause the contact or did not have the knowledge

LIABILITY OF PARENTS FOR CHILDREN’S ACTIONS 

General Rule = No parents not automatically liable

Two Exceptions: 

1) Parents are automatically liable for a 
child’s torts by statute (Statutes holding parents liable:): 
Cal. Civil Code 1714.1:  “Any act of willful misconduct of a minor that results in injury or death...shall be imputed to the parent.”  Up to $25,000

a. One party 

2) Parents themselves commit a tort (Parent is negligent):
a. Negligence for failing to supervise child.

DOCTRINE OF TRANSFERRED INTENT 

HYPO -- The Law School Student Fight – In Sonia’s café, the students are restless and someone says Food Fight. Someone picks up a pie and goes to throw it another student, but it hits the dean instead. The Dean cancels his scholarship and sues him for battery. 
· The student says he can’t be held liable for battery since he did not intend to contact you. In fact, I didn’t see you come in the room.
Baska v. Scherzer – There was a fight between 2 men. A woman went in between them to attempt to stop them and she was hurt. 
· Doctrine of Transferred Intent:

1. Can take intent from one tort and use it to complete another.
1. Ex: if Michael intends to put Nancy in imminent apprehension of a punch, and to his surprise, actually lands the punch, Michael may can be liable for battery. 

2. An intent directed at person A for a battery can be taken and transferred and used to a complete a battery against Person B. In this case, the D’s intent was the purpose to cause a harmful contact.
3. Only tort that intent cannot be transferred from is IIED 

· Rationale -- person who has the requisite intent, which is a wrongful intent, may injure someone else.
DOCTRINE OF EXTENDED LIABILITY 

· Rule: If the elements of a tort are present, D is liable even for unforeseen consequences (i.e. liable for extended liability).
· If you commit an intentional tort, i.e elements are met, and it turns out that the extent of the injury to the D is unexpected or unforeseen, the D is still liable for all the consequences for the intentional tort even if they are unforeseeable to begin with. 

B. 2) Assault 

a. Elements 
1. Intent (purpose or knowledge) 

1. Purpose to cause apprehension or
2. Knowledge that the apprehension is substantially certain to occur.

2.  Apprehension of harmful or offensive contact

1. Apprehension means you think it is going to happen
2. Not touching, but is apprehension of touching

3. Apprehension = anticipation of a harmful or offensive contact
b. P has the burden of proof is the preponderance of evidence

c. Example – Cullison -- Family confronts the P in the middle of the night. Dad makes verbal threats at the P. In addition, he had a gun. In the trailer, the Dad said “he was going to jump the trailer if he did not leave his daughter alone. He kept grabbing his gun. He learned later that the man had shot someone before.

1. Elements 

1. Intent

a. Purpose to cause the apprehension 

i. Grabbed gun to scare the P.

2. Apprehension of harmful or offensive contact

a. Grabbing and shaking the gun
d. Traditional Rules of Assault 
1. Mere words are not enough. Words + Actions needed/ 

2. Reasonable apprehension is required 

1. Cannot be someone who gets easily apprehended 

2. Take into account what the D knows 

3. Must be apprehension of an imminent battery 

1. Imminent = something quick

2. If killing would happen in the future, not imminent 

4. Does every battery include an assault?

1. No. Ex: Sleeping Beauty 

a. In Sleeping Beauty, she gets kissed while she is sleeping. She is appalled. Battery has happened, but no assault cause she was asleep.
2.  Ex: Koffman v. Garnett – a 260 pound football coach slammed a 144 pound 13 year old student to the ground to demonstrate proper tackling technique. Because the student “had no warning of an imminent forceful tackle” there was no claim for assault. 
	HYPOTHETICALS 

Hypo #1 -- D comes riding up to the tavern but finds the tavern door closed so he starts to try to open the door with a hatchet. The P sticks her head out at the window and asks her to stop. Makes a swing at her but misses.

· Intent 

1. Purpose to cause apprehension – yes, he swung at her hoping to hit her. The battery was going to be imminent if he had not missed. 

· Apprehension of a harmful or offensive contact 

1. The harmful contact was the swinging of the shovel 

Hypo #2: D comes in with gun and says hand over all of your money. The person starts to get the money, but the gun was never loaded.

· Intent 

1. Purpose to cause the apprehension. Had the purpose  for the gun being pointed at her. 

· Apprehension of a harmful or offensive contact

1. P anticipates the contact of being. Apprhension was the gun pointed at her. 
· If you have an apparent ability to carry an assault, still assault




f. Can have assault even where fear is not present
i. Ex: Michael threatens to hit Jason. Jason not worried about being hit by Mike bc he is much smaller than Jason. Still assault because there was apprehension of an offensive/harmful contact 
1. Purpose + think a harmful or offensive contact is going to occur 

g. Can you recover for both assault and battery? Yes. 

h. Damages

i. Emotional damages are recoverable as part of the damages. 

ii. Parasitic damages – If you have some sort of the element of the tort, and you get emotional disturbed that will attach a part of the damages.

C. 3) False Imprisonment 

a. Elements: 
1. Intent  (Purpose or Knowledge) 

2. Actual confinement 

3. Person confined has knowledge of the confinement

4. Confinement against the P’s will
b. If P agrees to confinement, there is a consent defense to the tort 

c. McCann --- Ps have interaction with Walmart employees. Allege FI by employees.
1. Intent (Purpose or Knowledge) -- Purpose to confine --  Employee blocked their path held onto shopping cart, claimed cops were coming, told P’s they had to go with them 

2. Actual Confinement -- Yes, they were told they couldn’t leave. Confinement started when employees put hands on Ps cart and prevented them from leaving 

3. Person confined has knowledge of confinement --- Yes; employees were watching them the whole time
4. Issue – Confined against will --  Ps thought they had to comply; they thought the cops were coming. Indication you’re being restrained under authority – that satisfies being held against will.

1. Staying somewhere to clear your name is not against your will. Have to say you want to leave for it to be against your will. 

d. Hypo #1 – She was told not to leave town. 

1. It is confinement. There was false imprisonment, but it is not worth much money 

e. Hypo #2: Storm faculty meeting, but security officer prevents you from going to the meeting. Sue law school for false imprisonment. 

1. There was no actual confinement. You are being prevented from going there but not actually confined. 

f. Hypo #3 One person grabs another person’s paper. He needs it because it is due that day. The student keeps it for the rest of the day. Can the student bring an action for false imprisonment?

1. Duress of goods – you can confine someone by taking their goods and if they stay around trying to retrieve their goods, then that is confinement. 

g. Hypo  #4 – A married couple always fighting. Here the man goes” help me get out of here.” The front door has been barricaded.  He says my wife has blockaded me and he says please move the couch out on the front porch so I can get out. Neighbor sees the man and leaves him out there. Can he sue you for false imprisonment?
1. Not liable for false imprisonment because no duty to release him. 

h. Hypo – P barricades outside door. There is a window that opens that person could go through. Is he falsely imprisoned?

1. If there is a reasonable means of escape, then not confined. If not reasonable, then confined.

2. This will depend on how agile a person is, their age, their fears. Not required to do anything dangerous or uncomfortable to escape. But if means of escape are within a person’s safe abilities, then must take escape. 

i. Hypo: Police Officers take Ps and let them out on the freeway. One P is hit and killed on the freeway. Can recover for this through Doc of extended liability bc death would be extended consequence of the confinement. P would not have been near freeway if he hadn’t been let out there by the police. 

1. Confinement was in the police car.

2. Consciousness of confinement? If he isn’t conscious then the argument is going to be it is not confinement.

3. Extended Liability Doctrine -- If you commit an intentional tort, i.e elements are met, and it turns out that the extent of the injury to the D is unexpected or unforeseen, the D is still liable for all the consequences for the intentional tort even if they are unforeseeable to begin with. 

1. As a consequence of the false imprisonment, them being taken in the police car, they ended up on the freeway.

4. Can you do transferred intent for false imprisonment and complete battery?

1. Nothing left to transfer because there intent went away when the false imprisonment ended. 

D. 4) Trespass to Land – Physical torts against property
a. Elements

1. Intent (Purpose or Knowledge) to enter the property
2. Entry

b. If it was just one step on to the property, it would probably just be nominal damages. It could be an object that you throw on the property as it could interfere with exclusive possession just as much as a person could.
c. Does not have to be person that enters the property could be an item 
d. Can have trespass after entry occurs if you had permission to be on the property for a period of time & that time expires but you refuse to leave 

e. If you unintentionally enter the property or cause something to enter the property, you have obligation to go get your item off that person’s property. If do not do this trespass begins. But you have right to enter property to retrieve item. 

f. Hypo #1– Ball enters someone else’ property. Is there a trespass to land there?

1. No because there was no intent (purpose or knowledge). 

2. You have to remedy the inference so you are allowed/ required to go on the property to get the property back as quickly as you can, and will not be held liable for trespass to land.

3.  If you do not do that, and you leave the object on the property than it is trespass. 
g. Iowa puts up a snow fence and leases property from a farmer. After winter, Iowa takes out fence but leaves the base of the fence. Farmer hits cement base gets thrown and killed. 
1. Leaving cement base meets elements of trespass to land. Iowa had right to put fence on property, but when lease expired had duty to remove & did not. There was a trespass. 
2. Can recover for the death through extended liability 
3. If person who died not the landowner, can recover through doctrine of transferred intent.

4. Elements: intent for trespass to land. Take that intent and transfer it over to the second tort of battery. 
E. 5) Trespass to Chattels 

a. Chattel = tangible personal property

b. Elements 


1. Intent to intermeddle 

2. Actual intermeddling 

c. Actual Harm Required 

1. Damage to chattel or 

2. Dispossession (depriving someone of their property)
1. Keep object for a day is trespass to chattels however keep object for a year it goes to conversion.
d. Remedies = P is entitled to the valued of whatever the actual harm is. Actual not nominal damages required
e. Parasitic Damages 

1. If as a result of the intentional tort (trespass, assault, battery) it turns out that the P is as a result suffers from some emotional distress would be able to get some of those damages.

F. 6) Conversion 

a. Substantial Dominion – if someone converts the property, you can say fair market value of the property or ask for the property back.

b. Conversion – there is a transfer of title; not the case for trespass

c. Elements:

1. Intent to exercise substantial dominion over the chattel (purpose or knowledge that interference is substantially certain to occur)

2. Exercise of substantial dominion over chattel
d. Actual harm is not required 

e. Difference between conversion and trespass to chattels: 

1. Level of interference with the chattel. Goes from trespass to conversion. 

2. Simply a matter of degree 

3. Dividing line is uncertain so have to make arguments based on the facts.

4. Restatement factors to determine if trespass or conversion

1. Extent and duration of control 

2. The D’s intent to assert a right to the property 

3. The D’s good faith 

4. The harm done 

5. Expense or inconvenience caused
f. Can have both conversion and trespass to chattels.

g. REMEDIES: Can either sue it to get the property back or the value of the property that has been converted 

h. The “3-person” transfer, Fraud and BFPs

1. A’s property (1) taken by B who (2) sells to C, a person who does not know of the conversion by B (i.e. is a BFP)
1. GENERAL RULE: C is liable. 

2. EXCEPTION: C not liable when B gets title (even though by fraud or trickery).  
2. REASON: B gets title (voidable, but sufficient to pass on to  C as long as C is BFP)
	CONVERSION AND TRESPASS TO CHATTELS HYPOS 

1) D pats P’s dog although he told him repeatedly not to do so. The dog is not harmed. The dog is the chattel. Is this a trespass to chattel?
a. Dog is not harmed so there is no trespass to chattels. Not substantial dominion over a chattel so not conversion. 

2) D leans against P’s car. P says don’t do that.
a. No tort. There is no harm 

3) Takes car for a joyride and puts the dog in the front seat with it
a. Trespass to Chattels -- When he took the car that was dispossession. In addition, taking the dog is dispossession. 

b. Conversion – not substantial dominion 
4) D kicks the dog and pushed the car off cliff. 

a. At least trepass to chattels

b. Conversion? – Yes for the car. Unlikely for the dog unless he was seriously harmed. 

5) Guy goes in to buy a car, and he thinks he has the deal negotiated already. The deal blew up and they would not give him his keys back. They finally gave him the keys back. He sues them for conversion of the car. 

a. There would be trespass to chattels because there would be dispossession. They controlled the keys which accessed his car. Was allowed to bring in a conversion case
b. False Imprisonment under Duress of Goods.


G. 7) Intentional Infliction of Emotional Distress
a. Stand alone emotional distress damages
b. Elements: 

1. Intent or Recklessness

2. Extreme and Outrageous Conduct 

1. Ex: Repeated Conduct: A single request for sexual contact might be offensive but is usually not sufficiently outrageous. On the other hand, repeated and harassing requests for sexual attention can be outrageous. 

3. Severe emotional distress 

c. Chanko v. American Broadcasting Companies -- P was severally and emotionally distress because she did not know a company recorded the death of her husband until 6 months later when she saw it on the television. 

1. Court did not find there was “extreme and outrageous conduct”

d. GTE Southwest v. Bruce -- D charged at his employees, threatened them, made them stand for 30 minutes, screamed at them. 

1. Important Factors: Repetition of the behavior and relationships to the P’s.
2. Elements

1. He was reckless  and could have had the intent as it was repetitive 

2. The repetitiveness of this made the conduct extreme and outrageous 

a. Because of abuse of power. Bc power relationship he has sufficient control & therefore easier to abuse this situation

3. Other Torts:

1. False Imprisonment – made her stand in the office for 30 minutes. 

2. Assault – apprehension of an offensive contract

e. How to prove severe and emotional distress?

1. Was medical help seeked? Would a juror look at the conduct and think the emotional distress would have 

2. To determine whether conduct is extreme and outrageous courts often ask “whether the recitation of the facts to an average member of the community would arouse her resentment against the D so that she would exclaim Outrageous.”
f. Taylor Insult Rule – Insults are not enough to be considered extreme and outrageous conduct.
g. Traditional Rule/Exception: Common carriers and innkeepers

1. Hypo: The Rude Conductor
1. Person says I will only pay you half the amount then I will pay you the other half. Conductor threatens to throw him off. Conductor then says 3 things: he is a lunatic, belongs in an insane asylum, and would be glad to give him 2 black eyes if he was off duty. 
i. This is mere insult, but court allowed him to recover. 

1. Exception of the Rule: Common Carriers (public Utilities, airplanes, innkeepers) words that are merely insulting that would not work for the general public, will work on these individuals. 

h. Third party Intentional Infliction of Emotional Distress 

1.  Special Requirement: Presence 

1. Terrorism
2. Molestation 
3. Immediate aftermath

a. If you come up to the scene right after it occurs 

4. “sensory and contemporaneous awareness”

a. You know it is going on at that time but you are just not there

2. Roth v. Islamic Republic of Iran – Emotional distress arises from a terrorist attack from miles away. The interaction that gives rise to the emotional distress is between D and a third party (the daughter of the P.).  The daughter was blown up. The actions are so bad by the D that they created an exception for terroristists. 

1. There was reckless disregard

2. Severe emotional distress 

3. Extreme and Outrageous conduct

3. Homer v Long – husband and wife. Wife gets treated by therapist. The therapist seduces the wife and the marriage breaks up. Husband (P) brings IIED against therapist. Wife was the third party. The therapist was the D. It was the interactions between wife and D that caused the extreme emotional distress. No recovery under the special requirement.

4. Hypo 1: D beats father.  P (daughter) comes on scene. D looks over, sees P, and severely beats father.

1. She can recover for IIED under the third party. She was present so yes.  

5. Hypo 2: D knows that P lives with father. Hears P say “Bye Dad.  I’ll be right back.”  P leaves. D beats up father and leaves.  Daughter returns.

1. No. She was not present. 

2. One Argument is that we can expeand the presence requirement – you don’t have to be there when it happens, but the immediate aftermath will work.
III. DEFENSES TO INTENTIONAL TORTS 
· They are separate facts that justify the tort even though the prima facie case is met. 

· so do prima facie analysis first THEN look for any privileges

· Allocation of Burden of Proof

1. Whoever is using the defense, generally the D, has to raise the defense and has the burden of proof 

2. By Preponderance of the Evidence

1) SELF-DEFENSE 

1. A person can defend himself or herself 

2. The harm is imminent 

3. Reasonable/Proportional Force 

1. Look at circumstances that exist to determine if they are using a reasonable amount of force.
4. Use Deadly force when presented with deadly force or serious bodily harm.

5. Person can retaliate in that moment but cannot once the threat subsides.

6. Words are not enough for provocation 
7. You do not have to retreat if you can due to stand your ground laws. 

· Grimes v. Saban -- Sequence of facts is important. Saban and Grimes have different sequences of facts about what occurred.
1. A person is not justified in using physical force if she was the initial aggressor, except if she withdraws from encounter and effectively tells other person that it is her intent to stop, but the other person continues or threatens use of physical force
· Have to analyze sequentially bc ability to use self-defense can come and go. 

· The Mistake Issue:
1. What if you make a mistake in defending yourself?

1. Can claim self-defense if that person “reasonably believes” the other is about to inflict offensive or harmful contact 
2. If you hit the wrong person, not liable unless “realized or should have realized that his act creates an unreasonable risk of causing such harm”

3. Overall, as long as under the circumstances the force you used was reasonable, no liability.

2) DEFENSE OF OTHERS 

1. Defense of others is allowed. If an innocent third-party has a right to self-defense, the D may defend them.
2. Same privilege as self –defense. Ex: Proportional, not initial aggressor, harm is imminent. 

3. What about mistake? Ex: if a police officer is making arrest but you reasonably believe person being arrested is just being harmed by another person not police officer and hit police officer. 
1. Some courts say no bc you are inserting yourself into something that doesn’t involve you,

2. Some say ok bc similar to self-defense mistake
3) DEFENSE OF REAL PROPERTY

1. Remember: Life > Property 

2. Can use some force to defend your property 

3. Force is proportional/Reasonable 

4. Defender must request the intruder to depart

5. Trespasser has no right to resist, if do privilege can turn into self-defense. 

· Katko v. Briney -- Katko broke into the house. He opened the door and the gun shoots him in the leg.
1. D set up automatic gun trap to go off when trespassers entered. P was badly harmed by this trap. Court held D did not act in self-defense bc it was excessive use of force and you cannot use deadly force to protect property. 
2. In this case, there was no threat to their safety, only to the property. The general principle here is an owner of premises is prohibited from willfully or intentionally injuring a trespasser by means of force that either takes life or inflicts great bodily injury.

· Can use deadly force in the house when there is a threat of life or serious bodily harm. 

· Hypo – Intruder tries to come through the window. Can you use deadly force?  Here, the threat is to your safety. So you can try to go into self-defense. If under the circumstances it looks like the person is a threat to you, you probably could use serious or deadly force. 

· Hypo – sign that said warning “Dangerous Dog” or mechanical spring gun
1. We have a consent issue. We could argue that burglar was aware of the deadly force and still went in meaning they consented to it. 

· Brown v. Martinez -- Landowner has a gun and in defense of his watermelons shoots the gun off and unintentionally injures a trespasser. Although there was no intent for battery, there was intent for apprehension, thus assault. Transferred intent from assault to battery.
1. Court lets P recover because can’t use deadly force to protect property. (APPLYING KATKO)
· Restatement (Second) of Torts 67 – D may be privileged to put the P in apprehension of a harmful or offensive bodily contact even though the contact itself would not be privilege

1. What happens if the intent being used is a privileged intent? Should you still be allowed to transfer the intent in this instance?

1. Ex: Brown 

2. One argument is there should be no liability because the doctrine of transferred intent should not be used since the point of it is to punish those who have wrongful intent. 
3. Other argument is that we should still use the doctrine of transferred intent. 
4) DEFENSE OF PERSONAL PROPERTY 

1. Common Law Practice – Recapture of Chattels 
1. Merchant can recapture a stolen chattel 
2. But must be in “hot pursuit”
1. Can use reasonable force
3. Otherwise: Privilege ends and must call police. Then can only recover without using force.
4. If merchant is wrong using force to re-take chattel: no privilege
2. Hypo -- If in hot pursuit, must trespass on property. Sam can go across the property to get his chattel back.
3. Arrest and Detention: Merchant’s Privilege Restatement Section 120A
1. “One who reasonably believes that another has tortuously taken a chattel upon his premises, or has failed to make cash payment for a chattel purchased or services rendered there, is privileged, without arresting the other, to detain him on the premises for the time necessary for a reasonable investigation of the facts”
1. Reasonable Belief 

2. Detain on the premises for reasonable investigation 

2. Able to use reasonable force. If escalates, can bring up the amount of force through self-defense.

3. Restatement only allows on the premises. They would be allowed to go outside and say to them we want you to come back inside
4. Privilege still applies even if you are wrong about them having the chattel
5. Gortarez -- Held and searched Gortarez after he told the men that he had left the vaporizer inside the store

1. What facts would show there was a reasonable belief?
a. Did not see him put down the vaporizer or that he paid for it.   

b. However, did not tell them what they were looking for. They thought Gortarez stole it, but searched Hernandez without asking him.
2. Not protected by Merchant’s privilege bc unreasonable purpose and manner of detention
5) PRIVILEGE OF DISCIPLINE 

1. PARENTS – can use reasonable force and reasonably confine the child. Very broad privilege
1. Force and Confinement: Within limits 

2. But: concern about intruding on parental rights
2. OTHERS can use the same privilege

1. Teachers/School Bus Drivers
2. Privilege more limited than parents 
6) PRIVILEGE OF CONSENT

1. Apparent Consent: Rely on reasonable appearance

2. Look to the circumstances to show consent

3. “No” means “No.”

4. Extent of consent: unexpected consequences. 

5. Think “inverse” of extended consequences.

6. Consent can be seen as negating harmful intent. But you must treat as a privilege.

7. Berywn: Berwyn goes to Austin’s house for a romantic dinner and they appear to be about to kiss when Austin reaches for her neck but bc she has neck problems he severely injures her neck. Berwyn says “I never consented” to this touching and that is true, does that mean there is no consent?
1. All circumstances are relevant. Person acting on consent can only act on facts that are available to him/her at the time of the situation. 

2. There is express consent and implied consent. 

3. Austin allowed to react by what is communicated to him by the circumstances 

4. Did consent cover the broken vertebrae?

1. If there was consent it would cover the broken neck. Bc if you consent to a touching and that touching occurs you are generally covered by consent privilege. 
2. Doctrine of extended consequence – liable for consequences that are unforeseen, thus consent does cover the extended consequences that are not foreseen

2. Three parts:

1. Entering the Consent: capacity to consent, etc.

1. How to consent: 

1. Expressly in writing  or Orally 

2. Through action
i. Hypo – was told she had to get a shot for something and she states she already had it. She lifted her arm up and they gave her the shot. They said when she raised her harm she consented (Consent through actions).
3. Consent Implied in Law 

i. Example: Emergency
1. Bad Auto Accident: Person needs to be treated but can’t consent, no relatives around, would have implied consent because they need immediate medical attention.  

2. Robins v. Harris – whether or not the P had the capacity to consent? If there is inequality in the relationship, there is going to be an issue. D is a prison guard while P is an inmate. This gives rise to whether there is capacity. Court of appeals says no consent, no capacity to consent bc of power imbalance.
3. Relationships and Capacity to Consent:
1. Jailers (Robins (93))

2. Employers/ Others?

3. Minors: Page 94 n. 3

4. Incapable Adults: Page 95 n. 4
i. Do they understand the act and consequence?

ii. If do not understand either they lack ability to consent 

iii. Do not understand the nature or character of the act 

5. Temporarily Incapable Adults: Drunkenness

6. Statutes intended to protect a class
2. Scope of Consent

1. Geographic Limits 

1. Example: consented to right ear operation but left ear was operated on. No consent
2. Hypo – consented to a fight. Person bit off their finger. Court said that was outside the scope of the consent. The recovery was not for the complete fight because he consented to some of the fight. Liability is only for the part that exceeded the point of consent. 
3. Hypo – patient consents to appendix removal and finds some cysts in the area. Doctor punctures those cysts to get rid of those. Does the consent cover the puncturing of the cysts?

i. Rule is something comes up that is related to what they did in the surgery, unexpected but related, then the consent will be deemed to cover it even though literally it does not. 

ii. Implied consent 

4. Kaplan v. Mamelak – A patient sued his doctor for medical malpractice and battery, claiming that the doctor operated on the wrong herniated disks in his back.

i. There was consent to a specific operation. Consent had some parameters to it. Doctor was outside the scope of the consent (Parameters). Thus, consent is no defense. 

ii. The law will deem a patient to have consented to a touching that, although not literally covered by the patient’s express consent, involves complications inherent to the procedures… a battery occurs if the physician performs a ‘substantially different treatment’ from that covered by the patient’s expressed consent. 

2. Temporal Limits 

1. Example: Farmer consented to snow fence for term of lease but after lease expired consent no longer exists. 

3. Conditional Limits

1. Example: Consent on condition that only use family blood in operation

3. Effectiveness of Consent

1. Some circumstances where the court will find the consent is not good enough 

2. Incapacity 

3. Statue Disallows Consent 

4. Fraud, Misrepresentation, Coercion 

1. Ex: Asks if he guy has herpes. Guy lied about having herpes. He claimes consent. Consent isn’t valid.
2. Hypo -- If he told her that he had unprotected sex with over 100 women, that is providing her with the information, but in a different way. 

3. Doe v. Johnson -- one who knows he has a venereal disease, and knows that his sexual partner does not know of his infection, commits a battery by having sexual intercourse. 

i. In order for the consent to be valid, does she have to know that she could possibly contract the veneral disease. There was information you need to make the consent. She needed all the information to make her consent valid. 

ii. Need informed consent 
4. Note: Consent can be revoked at any time 

1. Treatment of Medical Consent 

1. Cases where doctors go outside the scope of the consent. 

i. Could be treated like a battery

ii. Many are actually brought as negligence actions. 
5. Can a person consent to a criminal act?

1. Majority: Consent to a crimes does not bar tort suit 
1. Ex: Prize fighting w/out permit: can bring battery claim & defense of consent will not hold up bc cannot consent to crime. Consent is invalid. But RST says no, you can consent

2. Restatement: Consent is effective to bar suit
7) PRVILEGE OF PUBLIC NECESSITY 

1. The person or taking the destroying others property need not pay for the damages caused. 
2. Generally, the destruction of property of some to save lives or property of others.
3. Surocco v. Geary – P brings action against D of conversion for everything inside the house. Also, trespass to land. House was going to be destroyed anyway by the fire so D blew it up in order to stop the fire from spreading. But P claimed he had time to get all of his property out before the fire would have got to him had the house not had been blown up.
1. As long as there is a reasonable belief then the privilege of public necessity will apply

2. Court says the evidence in this case clearly establishes the fact that the blowing up of the building was necessary as it would have been consumed by the fire had it been left standing. The Ps cannot recover for the value of the goods which they might have saved; they were as much subject to the necessities of the occasion as the building in which they were situated

4. What if a fog unexpectedly stopped the fire. Does the privilege still apply?

1. Apparent or Actual Necessity – Apparent Necessity will work. 

5. Ex: Put a down payment on the house and the house is severely damaged. Robbers were in the house and neighbors called police. Police caught the guys but used tear gas and other things to capture them. Sue the police. They say public necessity
1. Homeowner should be compensated for the damage.

2. The test is apparent necessity if they were able to use other lesser force ways then would lose public necessity. 

8) PRVILEGE OF PRIVATE NECESSITY 

1. The intruder is privileged to what they need, subject to payment afterward.  

2. Allow recovery because do not want unjust enrichment 

3. Start with Tort (Prima Facie Case) – Trespass to Chattels (Dock)

1. Defense: Private Necessity (lives are in danger)

4. Ploof: P docked his boat at D’s private dock to avoid injury in a bad storm. D had his servant untie boat injuring family and destroying the boat. P sued for trespass to sloop/conversion to chattels (the sloop).
1. P said there was private necessity because can’t tie the boat then there is a big chance that P will be injured and the boat will be totaled.

2.  D claims defense of property and P then asserts claim of private necessity which negates the defense of property. Thus, all that is left is the prima facie case. 

1. P’s claim of private necessity trumps defense of property 

5. Vincent: D docked his boat while unloading goods. While unloading a storm came in and persisted after done unloading. D tried to leave but could not. So D tied boat to dock, replacing ropes as needed to keep it secured to dock. This created damage to the dock. D says not liable for damages bc private necessity.

1. Got to damage another’s property to save your own property. It doesn’t seem fair if you have to pay for what it cost to save it.

2. Variation Hypo: D still damages Ps dock but Ds boat still sinks. D would still owe money to P for dock. Rule says “can use someone’s property and even if damage it must still pay damages for property”

1. Still have to pay for the cost of the dock. Why should you pay for the attempt to save the boat? It is the risk you impose when you try to save your own property so you have to pay. 
IV. NEGLIGENCE 

· D does something that creates an unreasonable risk. The risk of harm is unreasonable when an RPP would foresee that harm might result and would avoid conduct that creates the risk. Negligence is not a state of mind; it is a failure to come up to the specified standard of care
· Elements of Negligence:

1. Duty 

1. Act as RPP

2. Duty must be owed

2. Breach of Duty 

3. Actual/Factual Cause 

4. Proximate (Legal) Cause 
5. Damage 

· How can a person be negligent ?

1. Negligence is the failure to use reasonable care to prevent harm to oneself or to others.
2. A person can be negligent by acting or by failing to act. 
3. A person is negligent if he or she does something that a reasonably careful person would not do in the same situation or fails to do something that a reasonably
ELEMENT 1: DUTY 
· Standard: Reasonable Care under the circumstances

1. Stewart v. Motts -- P was burned when carburetor blew up in his face at Ds auto repair shop when he was pouring gasoline into it. P brings action for negligence and wants a certain jury instruction that includes a higher degree of care when dealing with dangerous substances. Court says no. 
1. Court ordered that the standard reasonable care instruction is used. 

· “It is for you to determine how a reasonably prudent person would act in those circumstances.  Ordinary care is the care a reasonably prudent person would use under the circumstances presented in this case.  It is the duty of every person to use ordinary care not only for his own safety and the protection of his property, but also to avoid serious injury to others.”
· Greater the danger, greater the care.

· Ex: Throwing a book v. Throwing a baby
· Taking care by throwing a baby
· Jury determines how much care is required 

2. But: The amount of care varies with the danger. 
ELEMENT 2: BREACH OF DUTY 

·  “Reasonableness” in RPP Test

1. “In general, where the actions of a passenger that cause an accident are not foreseeable, there is no negligence attributable to the driver.”

2. But, when actions of a passenger that interfere with the driver’s safe operation of the motor vehicle are foreseeable, the failure to prevent such conduct may be a breach of the driver’s duty to exercise reasonable care….”
3. When is conduct unreasonable so that the party is not exercising reasonable care?
1. When the RPP would foresee that harm might result (i.e. foresee risk) and would avoid the conduct that creates the risk.
4. Brown v. Stiel: Choose to use steel in their buildings– 2 people are injured. Did they commit intentional tort in choosing steel? 

1. Intent: no purpose. No knowledge bc he didn’t know it would happen in this case. Statistics only tell you on average how many workers are killed with steel. Doesn’t tell you anything about what will happen in this building. Can’t say the company had knowledge harmful conduct was substantially certain to occur in this instance.

2. Negligent in choosing steel? Was it unreasonable for them to use steel when could have used concrete? 

· They are not negligent because look at the benefits not only the risks. 

· Cost of the concrete is a factor.

5. Pipher --- 3, 16 yr olds traveling in truck; there were seats in the back. D2 grabbed wheel once before accident. D1 regained control.
1. Was foreseeable because he did it the first time

2. Where actions causing risks are foreseeable, there may be a breach (but not always).
6. What is foreseeability?

1. The risk that you could have forseen is so small that it could be ignored, that we would not have acted on it

7. Evaluating Risks: The greater the harm, the less the probability has to be to determine if you are negligent. The less the harm, the greater the probability of harm has to be.
1. Indiana Consolidates – D walked across the street and moved the lawnmower to the middle of the garage. Checked the fuel gage and finds low fuel. Grabs the funnel then fills it 3 quarters of the way with gasoline. Then goes back to his house. Waits 20 minutes and comes back. Then starts the motor while sitting in it. The motor then starts and there is a flame and then turns the motor off. He checks under the hood and sees a flame 4 to 5 inches.  He garbs the towel and tries to put it out. Then the mower starts spewing out gas. Then he ran to his house to call the fire department.  He comes back and sees the garage gulfed in flames. 

· Factors in determining reasonableness:

· The risk (probability of harm)

· The harm that could have occurred (probable loss to him)

· Focus was on Risk: Although less likely to get injured opposed to the garage if he moved the mower outside the garage, we value life > Property.

8. ALTERNATIVE CONDUCT -- MUST COSNIDER: Social Utility, Benefits, and whether the alternative is going to cost more and the actions being taken do you lose some of the benefits.
1. BERNIER --- Ramsdell parked by the side of the road and she starts to pull out and intersects with a guy driving by in the lane there. Ramsdell then hits and then gets dazed and hits the gas and darts across the intersections and hits a business, a car, and hits the electric pole which hits two teenagers who are walking down the sidewalk. They found her and Edison liable. P said Edison was negligent because the pole was negligently constricted.
· Was there any foreseeable risk if constructed not to withstand that kind of impact? (Probability of Harm)

· Yes, was foreseeable that the car will hit the pole as has happened often. 

· Does Edison have to take into account that someone will drive negligently and hit the pole? (Foreseeable risk of negligent drivers?) When acting reasonably, do you have to account for people accounting unreasonably?

· Yes.

· Alternative Designs 

· Utility Argument

· Utility was the same just less expensive by a small amount, thus the RP would have strengthened the rods.

9. CARROLL TOWING/HAND FORMULA -- Remember: Jury instruction does not ask jury to apply the Hand formula. Just to look at the factors
1. The Anna C was being towed by Carroll Towing, operated by Grace line employees, who negligently caused the Anna C to break a drift, colliding, sinking and dumping all her flour. However, Anna C did not have a bargee on board. Bargee was away from the boat for 21 hours without an excused for his absence. Had there been on a bargee on board, the Grace Line employees could have saved the Anna C.
2. Balancing: B < P x L = Negligent
· Burden of Precaution =  Loss of Utility + Costs

· P = Probability of Harm

· L = Gravity of Harm if precaution is not taken

· If it would cost more to eliminate the risk then if you had let the risk go forward, the rationale actor would say more expensive to let it go than let it go forward.

3. Example
· To save costs an airline decides to cut down on engine inspection doing so by 50%. The canceled inspections save $200,000 per year in precaution costs. The lack of inspections increases the annual risk of accident by 1%, and if an accident with an airplane occurs, it is expected to cost $5 million I damages. 

· $200,000 < .5 times 5,000,000

· 200,000 < 50,000 – Not Negligent 

10. CONCLUSION 
1. TO DETERMINE REASONABLNESS:
· Probability (likelihood) of Harm

· (Risk is probability of harm.  Risk must be foreseeable)
· Harm that will occur 

2. BURDEN IF YOU TAKE PRECAUTION:
1. Social utility of action (what would be lost if activity were stopped) or

2. ALTERNATIVES -- Cost of precautions that would avoid harm (and keep utility)
	HYPOS

1)  D sells gasoline to P. P removes the cap to use it and the cap has some steel on it and by turning it the gasoline it sparked on the D?
a. This kind of occurrence was very unusual. Could they still find that he was negligent?
b. Look at factors:
i. The harm was huge 
c. Likelhood of occurring was very small.(Risk)The greater the harm, the less the probability has to be to determine if you are negligent. 
d. Even though the probability was low, the harm was so great.
e. “A very large risk may be reasonable in some circumstances, and a small risk may be unreasonable in some circumstances”
f. If the probability of harm starts to approach 100% , there stats to become intent (knowledge or purpose)

2) Riding a horse and garage truck came up. Horse was startled and threw P off. 
a. So much social utility is involved in collecting garbage that cant be negligence 

3) Security guards were chasing someone in the store who was a thief. Court said you have to take into account the utility. The utility is they were protecting their property. 
4) Hammering something with no goggles. A chip gets out and loses his eye entirely. Was it negligent not to supply the P with the goggles?
a. Factors

i. Probability of Harm – not that likey that you will lose your key

b. Actual Harm

i. Very high – lost an eye
· This could be found to be unreasonable. 

5) P was previously blind in one eye. Same facts as above 

1. Factors: 

1. Risk 

· Probability of harm is lower because he only ahs one eye at risk

2. Harm 

· Harm is even greater




· Emergency Instruction?

1. General Rule – In order to get the emergency instruction, cannot create the emergency.

2. Posas v. Horton -- P stopped suddenly to avoid hitting J-Walker. D then rear-ended her, bc she was following too closely. P does not want “sudden-emergency instruction” read to jury. But this instruction favors D. Was the jury instruction valid?
1. Sudden-emergency instruction: “A person confronted with a sudden emergency which he does not create, who acts according to his best judgment or, because of insufficient time to form a judgment fails to act in the most judicious manner, is not guilty of negligence if he exercises the care of a reasonably prudent person in like circumstances”

2. The court did not give the emergency instruction because the D created the emergency by following too closely 

3. Emergency instruction is unnecessary even if the D did not create the emergency because under the RPP test we would examine what a reasonable and prudent person would do under the circumstances, which would be the emergency. 

1. Emergency -- limits their ability and options to act reasonably as they have to decide quickly.

2. Wilson v. Stibert -- “It is conceded by both parties that the test of negligence in emergency situations is the same as that to be applied in other cases: that what is required is the conduct of a reasonable person of ordinary prudence under the circumstances.”
· Internal and External Circumstances of the RPP

1. Two Types of Circumstances:

1. External – what is going around the D when the D acted. 

· “RPP act under the circumstances present”

2. Internal: the D’s circumstances.

· Characteristics of the D – Expertize (only up, not beginners), Skills, Vision, Given Minimum amount of knowledge, NOT Mental Illness 
· Shepherd  – P’s vision was impaired. She suffered from 20/100 division and 20/80 division. She trips over a concrete slap on the sidewalk. We give reasonable person with the same characteristic, which would be the impairment of vision.
· Ask: How does a person of limited vision act reasonably when walking along a sidewalk?

· The reasonable and prudent person with this vision is probably going to walk more carefully because there is a higher risk of danger. 

· Standard of care has not changed but the amount of care has changes because of one of the circumstances that the D has.

· “He must take the precautions, be they more or less, which the ordinary reasonable person would take if he were blind.”
· Hill v. Sparks – Sparks was an operator of earth-moving machinery and had several seasons experience with a machine known as an earth scraper. At an exhibit, he rode one and instructed his sister to stand on a ladder on the machine. It hit a mound of dirt and was thrown frontward toward the front of the left wheel. She had died.
· Experienced tractor driver. Do we give this experience to the RPP? Yes just like with superior memory. You had this information available to you, it is not unfair to use what you knew.

	HYPOTHETICALS 

1) Driver goes down country road that’s he has not driven in 10 years. The average person would remember nothing about the country road. She has a superior memory and remembers that there is a dangerous turn somewhere over the road. She misses the turn and hits someone.

a. Ask: What would a reasonable prudent person with superior knowledge do?

2) D stores paint thinner in garage, lights a cig and lights up garage. This person did not know cig could light up paint thinner. Do we give RPP knowledge of this?

a. Yes, law says RPP will have “minimum amount of knowledge of facts and minimum amount of common sense” even though the D did not actually have knowledge of this.
3) Farmer in England has a pile of hay. They can self-ignite and combust. He puts hay on the side of the property and the person’s neighbor’s house burns down. 

a. Court held him to the knowledge. It is a thing that’s someone has to know.

4) Worn tire: Ds tire blows and P is injured. The D;s tire looked worn out and has the appearance that it would blow. D says knows nothing about Tires. Do we give RPP knowledge of tires?

a. Yes bc it is your responsibility to know that if attire has no tread it can be dangerous. Give this to the RPP.

5) D was in an accident and was enumerated. If he was sober, he would have avoided the accident.

a. Ask: What a RPP who was sober would have done to avoid the accident?

b. Do we give the enumeration to the RPP? No because the person impaired themselves. They owe the same amount of care as a sober person does.

c. What if the RPP would have done the same thing as the drunken person? His driving is not negligent because he a reasonable person who was sober would have done the same thing.


· Internal: Mental Illness 

1. Elderly/Mental disability does not excuse a person from liability for “conduct which does not conform to the standard of a reasonable man under like circumstances.”
1. Would give the D the reasoning ability although the individual without the mental illness is unable to reason. 
2. Creasy v. Rusk: P has Alzheimer’s and kicks P injuring her. Now have issue of what RPP would do bc someone with Alzheimer’s cannot act as RPP. We don’t give the RPP the mental disability.
1. Court gives people with mental illness the ability to reason. Holds them to a standard they can’t meet.

2. Consistent with intentional torts

3. Court cites 5 Public policy reasons for why we hold individuals with mental disabilities to a standard of reasonable care in negligence claims:
1.  This rule will allocate the blame between two innocent parties to the party who caused the harm. 

2. Second, the rule provides an incentive to caretakers of the mentally disabled to prevent harm to others. 

3. Third, this removes the incentive for a defendant to feign a mental illness to avoid liability. 

4. Fourth, the rule also remedies the difficulty that jurors face in attempting to evaluate the impact of a potential tortfeasor’s mental disability. 

5. Finally, because state and national policy seeks to promote equality between disabled persons and those without disabilities, the rule holds the mentally disabled responsible if they are to engage themselves in society.

· Internal: Age of the Actor 
1. The child standard of care: A minor is not held to the same standard of conduct as an adult. Degree of care which a reasonably careful minor of the same age, intelligence, maturity, training, and experience would use under circumstances which you find existed in this case.
1. Rationale for standard – unfair to hold a child to the standard they cannot meet 

2. There is no minimum standard of knowledge. 

3. No minimum amount of commons sense in the RPP

2. EXCEPTIONS TO THIS STANDARD:

1. Adult activities
2. Inherently dangerous activities
· Ex: Motorized vehicle generally. A minor who engages in a dangerous adult activity is charged with the same standard of care as an adult.
3. Stevens -- As a 14 year old, D Aaron Veenstra took a driver’s education course offered through the Calumet Public School system. He had skipped 4 grades in elementary school and graduated from high school early. He ran over someone. Negligent suit against him.
1. Court said he was held to same standard as adult bc of the nature of the activity of driving which is inherently an adult activity. 

4. Huson – 14 year old allows 11 year old to operate a golf cart and injures someone. Gets sued. Do we apply the child standard or the exception?

1. The courts have said that it is not inherently dangerous because no evidence that adult skills were required. 

5. Variations on the Rule for Children 
1. The “Rule of Sevens:”

· 0 to 6: Incapable of negligence as a matter of law
· 7 to 14: Presumed incapable of negligence

· 14 and Above: Presumed capable
2. Restatement Third: Children under 5 incapable of negligence 

· Rules of Law -- When should a court “take” the “breach” issue from the jury? – Jury generally decides the facts and decide what an RPP would do. 
1. As a Matter of Fact in an Individual case
1. 99 witnesses say light was green, 100th witness isn’t sure.  Judge says jury must find it was green.
2. By Imposing a Rule of Law Governing Recurring, Generic Fact Situations 

1. These rules do not take into account factual nuances. Court can declare certain things negligent, but in general does not work well. 

2. Example #1-- “Range of Lights” Rule: Driver is negligent if he or she can’t stop (i.e. hits some one) within the range of lights.  Other circumstances do not matter

· Marshall -- runs into this tressel at 30 miles per hour that supported the roadway going ahead. Have to be able to stop within the range of lights. It is the court telling the jury how a reasonable person would drive. They would stop within the range of lights. This is called the rule of law.
· Chaffin  --– D is going 40 hours a night and there is a car that comes that doesn’t dim their lights, and runs into a truck that has no lights dimmed.  They said maybe the rule of law, from Marshall is not a good one so they overturned the rule pf law. Normally juries decide breach, but there are times they don’t always decide breach. 
3. Example #2: The “stop, look, and listen” (and get out) rule

· Said D violated stop look and listen rule for stop look and listen and thus negligent

· NEGLIGENCE PER SE (Violation of Statute)

1. Using a statute to determine what RPP would do 
2. Jury would have the duty of determining if the statue was violated. MUST: 

1. It must find what actually happened.

2. It must apply those facts to the statute.
3. If found to have violated the statue then MUST find negligence. 
1. Minority: violation of statue is  some evidence of negligence 
4. The General Principle -- Martin v. Herzog -- D was driving at night crossed over center line on a curve & struck buggy that had its light off. Found there was contributory negligence because P violated statute. 
1. Statute: “Every vehicle on wheels whether stationary or in motion while upon any public street… shall have attached there to a light or lights to be visible from the front and from the rear from one hour after sunset to one hour before sunrise… A person violating the provisions of this section shall be guilty of a misdemeanor punishable by a fine not to exceed ten dollars.”
2. “…unexcused omission of the statutory signals is 
more than some evidence of negligence.  It is negligence in itself.” 

· The unexcused violence of the statue is negligence

5. Statute must meet the test then you’ve got a breach of duty simply from violating the statute. 

1. The statute must set forth (prohibit) precise conduct.  
2. Then: Test for whether to use the statute:

1. Class of persons -- (Injured person has to fit within the class of persons protected by the statute)

2. Type of harms (Class of Risks) -- The harm that occurred has to fit within the type of harm protected by statute
6. O’Guin -- kids cross an open field and then go into a landfill. In the landfill, the thing collapses on them and they die. Court said the statute applied because it covered the risks involved and the boys fell under the class of persons the statute was intended to protect. (Court stretched the meaning of the statute).
1. What does the statue say about the class of persons to be protected? 

· “Unauthorized persons”

2. What about the type of harms?

· “to protect human health”

7. EXCEPTIONS

1. Application of negligence per se to children
· A minor’s violation of a statute dos not constitute proof of negligence per se, but may, in proper cases, be introduced as evidence of a minor’s negligence. (trial judge likely has a lot of discretion to say no do not apply to children)

2. Obsolete Statutes: no one follows them anymore & they’re outdated, but still law. Could use evidence
3. Licensing statues will not be used for negligence per se


· Ex: Failure to have a license; not renew
4.  Breaching of the statue was excused  (Restatement Second of Torts 288(A)(2))
· 1. The violation is reasonable because of the actor’s incapacity 

· 2. He neither knows nor should know of the occasion for compliance

· Note: Presumed to know the law.  

· 3. He is unable after reasonable diligence or care to comply 

· 4. He is confronted by an emergency not due to his own misconduct 

· 5. Compliance would involve a greater risk of harm to the actor or to others 

5. Getchell -- driving along and she sees a moose and immediately slams on the breaks which results her car being skid. Went on the other side of the highway and there is an accident. She is then sued for negligence per se under “illegal to cross the center line of traffic” statute.
· Unable after reasonable diligence to comply and was confronted with an emergency that was not D’s fault.
	NEGLIGENCE PER SE HYPOTHETICAL 

Drake is driving slowly in the left lane with no cars going in the same direction. Prunella is a passenger in Drake’s car. A state statute requires slow moving vehicles to drive in the right lane unless to do so would cause danger.  A car coming the other way at Drake crosses the center line and hits Drake’s car, injuring Prunella.  Prunella sues Drake for negligence.  Can she use the statute to show that Drake was negligent?
· Does the statue set forth (Prohibit) – yes, cannot drive slowly in the left lane.
· Should we use the statue?

1. Type of Harm protected by the statue?

1. Don’t want someone who’s moving faster to crash into you or pass by in the right
2. Harm from hypo doesn’t match harm intended to be prevented by statute so statute does not apply, but can use RPP test

2. Class of Persons Protected by Statue?

1. Drivers and Passengers in vehicles


· Multiple Defendants: The Traditional Common Law Rules
1. Contributory Negligence: P sues D for negligence causing injury.
1. Common Law: If P is negligent, then P is completely barred from any recover.
2. Joint and Several Liability P v. D1 and D2 – both are negligent 

1. Plaintiff can collect against either Defendant up to the full amount

2. Limitation: Only one full recovery
3. Pro Rata Contribution (Common Law) -- D seeks to get part of what they paid from another D. split it based on how many D’s
1. What if other D is insolvent?

· Cant go after them. Stuck with the remaining amount 

2. What if other D is immune?

· Cant go after them. Stuck with the remaining amount. 
4. Contribution under Comparative Fault if joint and several liability: (not common law)
1. Get money based on % of contribution of fault

· Multiple D’s: Concepts III Modern Comparative Fault
1. Contributory Negligence
1. Partial Recovery-- P is not completely barred but recovery is reduced by my percent of negligence
2. Several Liability -- P v. D1 and D2 – both are negligent
1. Only liable for how much you were negligent(% of your fault)
3. Contribution under Comparative Fault if several liability:

1. No need for a contribution rule because by definition they are liable for depends on the % of fault they are. Cant overpay

· Note: Fault has to add up to 100%. Even if the third person has left country, would still allocate how much he was at fault so we could figure out the percentages.
	HYPO

· Paul:  0% at fault

· Agatha: 75% at fault

· Bert: 25% at fault

· Damages: $100,000

· How much money must A and B pay?
1. Common Law

1. Check P is negligent as would bar relief – would not bar 

2. Under joint and several liability, can get up to $100,000 from either D

3. Pro Rata Contribution -- A can get $50,000 from B and vice versa.

2. Contribution under Comparative Fault 

1. B can get 75,000 from A. A can get $25,000 from B

3. Modern Comparative Fault Rule 
1. Paul can get $75,000 from A and $25,000 from B


· Proving Minimum Facts that Show Negligence

1. Turning from the idea of “reasonableness” to proving “unreasonableness”:
2. Santiago – there was an accident and there was an injury. She proved there was a one way street. There was a stop sign. Mirror of other vehicle was knocked off. She was not able to prove the alleged negligence. 
1. We need a specific negligent act to determine reasonableness. We look at the action the D did and look at the risk from that action.
3. Gift v. Palmer – The D was driving on a street 30 ft wide clear in weather. No cars were parked on the side. He ran into a three year old child in the street. No one saw how the child got in the street and no one saw the impact itself. The P asserts a claim on behalf of the child
1. Does not alleged a negligent act. We do not know the act that was claimed as negligence

2. Could allege that he should have seen the kid that was what the negligee is. – could a jury find from this?

· The court said there was not enough evidence to show negligence. No evidence of facts and circumstances of conclusion that could have seen the child and stopped the auto.

4. Upchurch -- UpChurch crashed car killing her passenger. Evidence of speed Upchurch was going is all over the place. One expert says 60 one says 25. Give this to the jury to determine Evidence of drinking also inconsistent. There is enough proof here to go to jury that the jury could find negligence
1. The conflicting evidence: “The resolution of disputed facts …is a duty that devolves upon the jury”
2. People said different things at different times. Where was the P at the scene of the accident.

3. Jury have to decide between this 

5. Forsyth -- Villa truck was speeding and hit Joseph vehicle at 55 mph killing Joseph. Villa even testified at the point of impact he was going 55 mph.

1. Enough evidence to find negligence. Skid marks are evidence he was speeding because he hit the truck at the speed limit after skidding 129 feet add testimony of speed to this and then make an inference. Juries are allowed to take 2 facts and then infer a third and now are in a position to infer the conduct. 

6. Dark & Stormy Night: P was walking hunched in a storm to shield from rain & hit her eye on a steel box and all we know is steel box is 70 inches from ground, 20 inches in height, 10.5 in depth. Enough for negligence?

1. There would be a foreseeable risk to tall people. Harm can be very significant so there would be enough 

7. Trial Procedure: burden on prima facie case is preponderance of the evidence which is 51%. Facts have to be 51% more likely than not to have happened. This burden is on P. Jury decides facts. Jury is split, case fails

1. Nonsuits and Directed Verdicts 

· Nonsuit – we have heard all the evidence for the P, but there is not enough evidence for the P. 

· Direct Verdict – not enough evidence of negligence. If motion granted and is wrong, have to do a retrial. 

2. Types of Proof:
· Direct evidence

· Circumstantial evidence: Inferring Fact “B” from fact “A”

3. Inferring negligence

· Take facts and “infer” that conduct was negligent.

4. Expert Opinion

· Out of knowledge of ordinary laypersons

· Example: medical
8. Proof of Negligence—Slip and Falls: Inferences and Credibility

1. The Issue: Is there sufficient evidence that a jury could find negligence (i.e., evidence sufficient to “get to the jury”)?
2. Examples:
1. Hypo -- P on railroad platform and slips on a banana peel. He produces evidence of a banana peel. It had heel marks son it. 
· The peel shows that it was fresh. 

· If a peel shows that it is older and brown. It means that the banana has been there awhile.

· Since it was on the platform for a long period of time, they had notice, thus negligent.

2. Thoma: Thoma fell while eating at cracker barrel. Said she saw spill on the floor where she fell. 

· Are Thoma’s facts enough to get to the jury? 

· Yes because the area of the spill was in area where employees should have been on constructive notice
· And the amount of time since the spill could have been there longer than they were there to eat 
· What are we looking for to show negligence on part of the D?

· That there was a large period, thus discoverable. Thus, is foreseeable and a reasonable and prudent employee would have cleaned it up. We are looking for 1 of 2 things that would show how much notice

· Actual notice --- if they spilled it themselves

· Constructive notice – the court said enough evidence to show constructive knowledge 

· An area where there are a lot of employee traffic

· Probably not a customer since they do not carry drinks to their table.

· Probably was an employee so would have to be an employee and if it was would put the restaurant on notice. 

· The area was large, thus employees should have been able to see

· Pizza – selling a pizza at a mall and they gave it to you on wax paper. It slipped off and someone slipped on it and fell on it. 

· The way the business was set up made it foreseeable that someone
· Can prove they were negligent based the very operation of the company would make it that the pizza would fall on the floor and someone would slip on it.

· It was greasy and cheap pizza. 

· The wax paper 

· Slipped on a bean on a produce section of the market. The employee said that he mopped the area 2 minutes before the P fell. The P argues that he must have missed it. 

· Slipped on a bean on a produce section of the market.
· The employee said that he mopped the area 2 minutes before the P fell. The P argues that he must have missed it. 

3. OVERALL:
· Slip and Falls have 3 possibilities:
1. Actual Notice = D finds this issue 

2. Constructive Notice = don’t know about it but should. Has to be on the floor for a reasonable amount of time

3. Business practices: are they operating the store in a way that risk is foreseeable
· With negligence:

1. Have to determine what happened first. 

2. Then with fixed facts, were the Ds on constructive notice?

3. Yes then negligence follows bc they did nothing about it.

4. Jury is allowed to infer negligence from the facts

· Other Types of Evidence -- Custom and Other Similar Evidence

1. Evidence of safety manual is relevant but does not set different standard of care

1. Walmart -- A woman slipped on a puddle of water in the outdoor garden area of a Walmart Store. She sued for her injuries, alleging Walmart was negligent in the maintenance, care, and inspection of the premises. Found the employee manual and its polices, practices, and procedures as proper item of evidence to show what Walmart considers as ordinary care. Court reversed. 
· There rules and policies could exceed what is considered as ordinary care. What Walmart puts as ordinary care is irrelevant because all we care about is how a RPP would act under the circumstances, not how Walmart would act under the circumstances.

2. Custom evidence is relevant to the ultimate issue because if its customary a lot of people do it and if a lot of people do it that tends to show that it is reasonable care to use the custom. So the custom is some evidence of negligence. (Custom evidence is a better indication of standard of care than is a store manual.)

1. Duncan: P fell on Ds wooden staircase when the top step collapsed. What is the evidence at issue? It is customary to use the pressure-treated lumber and that was not used here, but it was permissible to use the non-pressure treated lumber under the code. Custom is more stringent then code. 

· Want to bring in evidence of common practice. Certain practice of treating pressure lumber (Custom) Showing what is customary here
2. Mayhew – P falls through hole 3 feet in lengthy by 26 inches in the center of a mining platform. 

· Is it reasonable for a company to put company on a platform with a whole in it unlit? 
1. No way putting a whole in a platform is not ordinary prudence even though that was custom.  
· “If the Ds had proved that in every mining establishment that has existed since the days of Tubal-Cain it has been the practice to cut ladder holes in their platforms—without guarding or lighting them, it would have no tendency to show that the act was consistent with ordinary prudence.”
· What is done customly in an industry is not what is reasonable?

1. We are uncomfortable with custom.

2. Maybe it doesn’t always show what a RPP would do
3. Ex: TJ Hooper: Two tugs, the Hooper & the Montrose were towing 2 barges up the east coast with cargo on board. The tugs lost the barges around the NJ coast because of weather, and thus loss the cargo. 

· Case turns in part on the fact that they didn’t get notice of the storm they didn’t have the radio sets, but there was no custom to have them. But some boats did.

· Even if there is no custom, still an RPP would have had a radio. In general if people are using something as custom, it is a good judge of the RPP. Custom evidence itself does not prove negligence, unlike negligence per se. But it is admissible, but not determinative so we leave it to the jury. 

3. Proof of Negligence: Compliance with Statute
1. Compliance of the statue does not mean  there is no negligence, however, admissible to show was not negligence.
· Miller v. Warren --- Tried to say they complied with the statue and that the proof is determinative to that you were not negligent. The P’s awake in the motel room to find it filled with smoke. They attempted to get out, but the knob was too hot to get out. They suffered serious burns before they are rescued. There was no fire alarms in the motel room. Fire code does not require there to be.
1. If the D’s knew or should have known of some risk that would be prevented by reasonable measures not required by the regulation, they were negligent if they did not take such measures. Circumstances may require greater care, if a D knows or should know of other risks contemplated by the regulation. 

2. Court says evidence of compliance with the code is admissible but not determinative. Evidence of negligent that the jury can do what it wants.
4. Res Ispa Loquitor  -- The thing speaks for itself

1. Form of Circumstantial Evidence that allows the jury to infer negligence. 

2. The mere fact that the accident had occurred is evidence of negligence.

3. Byrne v. Boadell -- P was walking down the road when a barrel fell from Ds shop and fell on him causing him to lose all recollection of the event. 

· Generally, no specific act of negligence stated = Not enough evidence 

· Court found that the barrel could not have rolled out of the ware house without some negligence 

4. ELEMENTS/TWO PART ANALYSIS 

1. Are the Res Ipsa Elements Met?

1. Accident or injury was of a kind that ordinarily does not occur in the absence of someone's negligence

· Ask: Is this the kind of accident is accidents that do not ordinary occur without negligence?
2. The instrumentality that is producing the accident must be under the exclusive control of the D.

3. Not due to any voluntary action or contribution on the part of plaintiff.

2. If elements are met, what is the effect of the Res Ispa Evidence? – States follow one of three evidentiary rules.

1. Permissible Inference – Jury may draw it or not. 

· Similar to Custom the evidence would not be determinative but could be used as evidence of negligence

2. Presumption re burden of producing evidence (CA) – Jury must presume negligence unless the D produces evidence. 

· Res Ispa Evidence – Once you have evidence that meets the elements, the jury must presume that the D was negligent unless the D can meet there burden of providing some proof that shows they were not negligent. 
· If D meets burden, then the Res Ispa evidence is treated as (1)

3. Presumption re burden of proof: D must prove by the preponderance of evidence that was not negligent. 

· Simply shifting the burden of proof to the D

· Generally, the burden is on the P to prove preponderance of the evidence that the D was negligent (more than 50%, 51% and above).

· Now, the D has the burden of showing that by a preponderance of evidence they did not act negligently. 

· Generally important in cases where there is 50/50 because the party who had the burden of proof would lose because they were unable to meet there burden. 

5. Exceptions to Meeting the Requirements of Res Ispa:
· For the doctrine of res ipsa loquitur to apply, an accident must have been more likely than not caused by the defendant’s negligence.
1. Expanded the control rule that a P is allowed to recover although they have been negligent. 
· Giles: Powell Building, New haven – elevator injury. P enters the elevators and it began to shutter and shake, and the compensation chain fell to the bottom of the shaft with loud crash. So she reverses it and jumps out on the nearest floor sustaining injuries.
1. If an elevator is checked regularly, accidents like this don’t usually occur without negligence. 

2. The D did not have exclusive control because the P caused the broken chain when she changed the direction of the elevator. 

3. Contribution by the P.
4. Relaxed the Res Ispa requirement for this case because the accident was more likely than not caused by the D

· Generally can’t use Res Ispa when he D does not have exclusive control because run the risk that the jury will find them both D’s negligent. P does not have to prove the negligent act against them. If they are, one of them probably was not negligent.

1. Exception:
· Collins -- Eva admitted Collins to Alden Wentworth rehabilitation for five days while the daughter was out of town.  Superior transported her to and from the center. She became in a state of dehydration and broken leg. If she is dehydrated that would have occurred at the center.  She could have broken the leg at both places.
· They allowed her to use Res Ispa Loquitor

6. NEED to KNOW: Res Ispa

· Cannot use it for slip and fall cases as there are many slip and fall accidents that could occur in the absence of negligence

· Some cases where there is not common knowledge if this occurs in the absence of negligence. Need expert testimony. 

· D’s superior knowledge is not required 

1. Ex: Plane accident – Do not know what caused the accident 

· If P produces specific evidence: can he or she still use Res Ispa?

1. Old Rule – No. Res Ispa Abandoned. 

2. New Rule – Yes. You can prove the specific negligent act and in alternative can use Res Ispa.
7. Limitation of Res Ispa:

· If you had the opportunity to prove what happened, but didn’t take it, can’t use Res Ispa. 

1. Ex: Warren v. Jeffries -- Terry was run over by the front wheel of D’s car. P did not prove any of the possibilities that could have caused the car to roll back. She tried to use Res Ipsa Loquitur.
· All three elements are met, however, the court did not allow P to use Res Ispa because there was an easy way to get evidence and the P did not get evidence. 

2. “Invocation of res ipsa loquitur is no substitute for reasonable investigation and discovery.  The doctrine may benefit a plaintiff unable directly to prove negligence.  It does not relieve a plaintiff too uninquisitive to undertake valuable proof.”
	HYPOS FOR RES ISPA

· Koch: D’s power line broke & fell starting a fire that did considerable damage to Ps property. Sunny & warm weather. Power lines do not normally fall without fault on behalf of the company that maintains them and res ipsa loquitur is applied in the absence of a substantial significant or probably explanation.
1. Power lines generally don’t fall without negligence.

· Consgrove -- Power lines were sparking in an alley and a leak in a buried gas line was ignited by the sparks. The fire injured the P’s
1. Distinguish factually from Koch: They did not have exclusive control over the power line. It was stormy. This could have caused the power line to fall. 

1. “Other forces (besides negligence) may cause a downed power line, such as wind, lightning, storm or an animal chewing through the wire.” But a ruptured gas line feeding a fire does not ordinary occur in the absence of negligence.”

· 600lb Steer: women on first floor, steer auction was on the second floor. Suddenly there was a loud commotion and some of plaster started to fall off the ceiling on the P. This was followed by a steer falling through the ceiling onto P knocking her unconscious. 
1. Courts would say would not occur without negligence.

· TV sets on fire.

1. P wants to use Res Ipsa. No bc too many other explanations for why TV could set on fire. 

· Fertilizer plant explodes: 
1. Court says yes can apply Res Ipsa, although D could argue too many other explanations
· Chewing Tobacco. Guy puts tobacco in his mouth, put 2nd one in and then finally bit into it and there was a toe. Res Ipsa can apply. This could not occur in the absence of someone’s negligence

1. Does not occur without negligence because you do not hear about this occur.

· A woman goes in for oral surgery to have 3 teeth extracted and she comes out of the surgery with her finger broken. 

1. Res Ispa loquitor should apply because generally does not occur in the absence of negligence.

· Hypo: Pepsi: Pepsi drinking client find furry animal after taking 4 sips of a previously unopened Pepsi. You prove the can had never been opened before. Can you use res Ispa? 

1. The 3 requirements are met, thus can use res ispa.

· Hypo: Pepsi Variation: Pepsi explodes P is injured. No Res Ipsa bc other possibilities why this happened. Could try to get testimony from other people who harmed the bottle. 

1. Exclusive control problem because could have it where the 7 11 employees may have shaken it up.

2. Res Ispa generally would not apply

3. But allowed in this case to use res ispa  because showed that the other possibilities were eliminated 

·  2 drivers collide and the headlight shatters and hits the P. There is no evidence of how the accident occurred. 

1. Cant use res ispa loquitor. Would have 2 D’s? Cant apply because the instrumentality would not be in the exclusive control of the D because there was two D’s would not work on an accident of this type.


	HYPO -- MPC

Paolo is a guest in the Dorfman Hotel. The bathroom in the hotel room includes a shower, protected by a sliding door made of ordinary glass. Paolo trips while taking a shower and falls on the door. The glass door shatters and lacerates Paolo. It is a standard practice among hotels to use shatter-proof tempered safety glass rather than ordinary glass at shower enclosures. Dorfman has a company manual that says sliding doors of ordinary glass should be replaced with shatter-proof tempered safety glass.

Paolo sues Dorfman. Which of the following is true:

(a) The standard practice (Custom) is admissible and the judge can instruct that it establishes reasonable care in this case.

(b) The standard practice (Custom) is admissible and shifts the burden of proof to Dorfman.

(c) The manual is admissible and the judge can instruct that it establishes reasonable care in this case.

(d) The trial judge might admit both the standard practice and the manual as evidence of negligence

We are dealing with two types of evidence:

· Safety Manuals – Not determinative but can be used as evidence  of negligence

· Custom Evidence – Not determinative but can be used as evidence of negligence 


ELEMENT 3: ACTUAL/FACTUAL CAUSE – A Factual Question 
· NOTE: Res Ispa lets you find automatically actual cause as can’t do an analysis as the alleged negligent act is inferred. 

· Intro to Actual Cause: Think of 2 screens. 1 screen has what has actually happened. The other screen shows what would have happened if an RPP was acting. 

1. If the same, no actual cause. 

2. If not the same, the alleged negligent act was the actual cause of the P’s injury. 

· BUT/FOR TEST W/ ONE D
1. But/for the D’s negligent act the P would not have been injured 

2. EXAMPLES: 

1. Salientro – failing to ask her if she was pregnant is the alleged negligent act. Can we say but/for he D’s act would the P have been injured? What would have happened if the D had not been negligent and asked her?

· She would have said no she was not pregnant if was asked if she was pregnant, therefore the injury would still have occurred if the D was not negligent. 

2. Hypo -- Woman and her husband was over someone’s house. Husband gets tired of talking and leaves. The wife finishes talking and jumps in her car and backs out without looking and runs over her husband who was crouching down in the rear of the car.

· The alleged negligent act was failing to look in the rearview mirror 

· There was no actual cause because even if she acted as an RPP and looked, she would not have seen him and would still have hit him. 

3. Hale – P sees bushed up ahead o her that are overgrown on the sidewalk which makes her to decide to cross the street. As she is on the edge of the curb to cross the street, sidewalk crumbles and falls. Is the person who negligently maintained the overgrown bushes the actual cause of the P’s injury?


· Two Options so we let the jury decide:

1. she trips on the crumbly sidewalk anyways
2. that she keeps walking and there is no injury

· But/for the bushes being overgrown then she  would  not have been injured

· If she crumbled on the sidewalk, regardless of the bushes then there is no actual cause. 

· BUT/FOR TEST W/ TWO D’s
1. Principle -- Our general rule is that you are only liable for what you caused. 
2. EXAMPLES:

1. Two D auto accident – D1 is speeding. D2 cuts in front of him. There is accident. Headlight flies and hits P. P is injured.
· This is an Indivisible Injury since both the D’s meet the but/for cause and thus are the actual cause

· Check all the elements for each D on the question

2. Women was driving down and deer cut across her. D1 kills deer and leaves it in the road. 2nd D is speeding and hits the deer and falls off the side of the door and hits the P.
· D1’s alleged negligent act = not doing something to alert someone of the deer on the road

· Same as above indivisible injury as both are the actual cause of the P. 

3. 2 bicyclists and one of the cyclists go on the side and hits the P in the arm and the other hits the P’s leg.
· This is a divisible injury. One D is responsible for the leg and the other for the arm. 

· Only actual cause for what they broke

1. What would have happened if D1 was not out of control?

· The broken arm would not have happened. 

2. What would happen if D2 was not out of control?

· The broken leg would not have happened.  

4. D1 is negligently driving and hits the P. P is taken to the hospital where Doctor D2 negligently operates and further injures the P?

· Doctor is only responsible for the aggravation as did not cause the original injury. 

· If D1 has acted not negligently, the P would not have been injured and there would not have an aggravation. 

1. Thus, D1 is responsible and the actual cause for the malpractice and the original injury. Liable for both.

5. When D is not liable under but/for causation  -- Have 2 cars drag racing and one of them goes and injures the P or the Domino’s pizza truck is negligently driven on the way to your pizza.
· Are they held liable even though they did not cause the injury? 
1. Yes because they are an employer. This is for policy reasons.  
· Dominos will be held liable based on Employer Liability: Respondent Superior

· For drag racing, although the first one did not cause the injury, they were acting together (concert of action) – all of them will be held liable even though one was not the actual cause.
1. Concert of action: two individuals agree to do something but only 1 causes injury. Both are liable. (ex: drag racing)

· Liability--Two Defendants Cause Injury: Divisible/Indivisible injury
1. GR -- 1.If the injury is divisible: you are only liable for what you actually cause (except: respondent superior, concert of action).  

2. INDIVISIBLE INJURY 

1. Principle: the liability of one person who causes injury does not exclude the liability of another  who caused that injury

2. This is when you have to deiced how much they pay which depends on if you have joint and several liability in the jurisdiction

3. Possibilities:
· EX: Possibility No. 1: The common law rule: Joint and Several Liability – Both D;s are jointly liable for the full amount of damage

1. Could get the full amount from one D.

2. If there are 2d’s would do contribution pro rata of 50%. 

· EX: Possibility No. 2: The modern rule: Retain Joint and Several Liability

1. Can go after either amount for the full amount

2. Contribution by comparative Fault which means D1 pays 20% and D2 pays 80%

· Ex: Possibility No. 3: The modern rule: Several Liability for Indivisible Injury

1. D1 can only pay up to there percentage of fault so no contribution

· Duplicative Causes and Substantial Factor Test
1. Landers -- 2 potential D’s. Have 2 leaks. Each 1 is from one side of the lake. There was damage to the lake. 
1. There has to be actual cause but both would fail but/for test so P cant meet their burden and would lose

2. “Duplicative causation”  – either one of the D’s negligent act would have cause the injury 

· Substantial factor test – actual cause for both 

1. Ex: There are two fires either of which would have caused the P’s injury. Both fail but/for test. The court says you ask whether the negligent acts is a substantial factor in causing the P’s injury?
2. Lasley -- D1 and D2 are both negligent. D1 spilled gas which caused the P’s son to wait there. D2 speeding resulting in the death of P’s son. But/for D1 dropping the glass, accident wouldn’t have occurred. But/For D2 speeding, accident wouldn’t have occurred. This was an indivisible injury as the P was killed. 

1. They could have applied but/for test but applied the substantial factor test in Oregon
	HYPOTHETICALS 

1) Bar and the employee of the bar shoves the P who is on floor paralyzed. Police come in and throw him in the patty way causing injury to his head. He ends up hurt. 

a. Two Possible D’s – Employee of the Bar/Employer AND Police 

i. Court said you could not divide injury so treated it as an indivisible injury even though theoretically divisible. 

2) Twin Fires --- Both Fires from either side could have burnt the property.

a. We fail but/for causation, thus apply substantial Factor Test and hold both of them liable. 

3) Modification in hypo – Instead first fire comes and destroys property, then second fire comes.
a. Preemptive Causation – where there are two sufficient causes of something, but one occurs before the other.
b. Only first fire is liable.


· DON’T KNOW WHICH OF THE TWO D’S CAUSED THE SINGLE INJURY 
1. SOMMERS V. TICE --- 3 people hunting.1 P’s and 2 D. 2 of the shots hit the P, one in the eye. They do not know who caused what injury but only 1 hit the eye. 

1. Alleged negligent act = risk of shooting in that direction (probability of harm) and the harm is great.

2. Failure in but/for test as 50% chance either D could have been the one to shoot in the eye thus P fails burden of proof. 

3. Court shifts the burden of proof to the D – D must prove by preponderance of the evidence that they did not hit the eye.
4. Doctrine of alternative liability  -- two independent tortfeasors may be held jointly liable if it is impossible to tell which one caused the plaintiff's injuries, and the burden of proof will shift to the defendants to either absolve themselves of liability or apportion the damages between them.

5. Can possibly argue concert of action and say lets hold both of them liable
2. Hypo – all trucks negligently spilled identical substances. 

1. Will not apply doctrine of alternative liability as 7 individuals who have the burden of proof. 

2. TOO MUCH OF A STRETCH WONT APPLY SOMERS

· TIME OF DEPRIVATION

1. Rule – Only liable for what you lost.
2. Dillon v. Twin State Gas and Electric Co. – the D’s negligence in failing to insulate a wire caused a 14 year old boy to be electrocuted. He was about to fall in a river that would have killed him anyway.
1. Give damages for the loss of 30 seconds of life

3. Hypo -- There is an auto accident that is caused by the P’s negligent driving. 8 year old had terminal cancer and was going to die within 3 years. Assume but/for.
1. Give damages for three years not hid life.
· LOST CHANCE RECOVERY 
1. Don’t use lost chance recovery -- If 60% chance of recovery to begin with, then there was a 40% chance that you won’t recover. If can prove preponderance of evidence by 51% chance you get the full amount of the injury.

2. Mohr v. Grantham -- D is in an accident and there is malpractice. As a result of the malpractice, the D loses a chance to recover. 
1. Had she received non-negligent malpractice she would have had a 50 - 60 percent chance of a better outcome
2. Thus, but/for the D’s non-negligence, the P would have recovered.
3. In order to recover for the full amount, she had to prove by a preponderance of the evidence that she is going to be able to recover which is 51% to show actual cause
3. If person loses less than 50% chance of recovery, the P could not meet the burden of proof. They can’t prove by preponderance of evidence that they would have recovered if not for the D’s negligence. 

1. Ex: If she had a 40% chance of recovery if properly treated can she recover for the brain injury.
· No. Because the negligent act cannot meet the preponderance of level test. 

4. LOST CHANCE THEORY – give damages for the percentage of loss
1. Ex: There was 40% chance of recovery and because of D’s negligence, you lost that. 

· Percentage TIMES Total Damages 

· .40 TIMES  100,000 = 40,000

2. Not done in CA

Element 4: Proximate Cause 

· Intro -- Doctor and Patient. Doctor negligently operated on vasectomy which caused the kid. The kid burned garage down. Patient sues Doctor for the burning of the garage. There is actual cause.  However, no proximate cause because crazy to find him liable for this. 
1. The negligence has to be foreseeable in order for there to be proximate cause.

OVERALL APPROACH: Risk Rule Approach:
· Risk Rule – Two-Part Test for Proximate Cause 

1. Class of Risks – only responsible for risks that made them negligent to begin with. 

1. Did the risks that made the D negligent to begin with come to fruition?

2. Class of Persons (Palsgraf)

1. Two purposes:

· You are negligent for the people that you place at risk. 

· Who is within the class of persons put at risk by that negligent act

3. of persons. (Palsgraf)
· NEGLIGENT ANALYSIS: 

1. Assume Duty

2. Alleged Negligent Act 

3. Is this negligent? Breach -- Factors: Harm, Probability of Harm, and Utility/Costs of Alternatives
4. Actual Cause – But/For 

5. Proximate Cause – what are the Risks associated with the Negligent Act?
1. Is one of the risks associated with the negligent act what happened here

· Thompson -- alleged negligent act: disassembling the trampoline and leaving it in the yard 38 feet from road during a windy time in Iowa. This means that there is a foreseeable risk.
1. An actor’s liability is limited to those physical harms from the risks that made the actor’s conduct tortious

· Abrams --  women who is going to have baby and ambulance negligently does not come. She is driven to the hospital and is hit by a guy who was intoxicated and speeding and hits the car. She was in a coma and loses the kid.
1. Negligent Analysis:

1. Alleged Negligent Act – not sending an ambulance 

2. Is this negligent?

· Risks Associated with the Negligent Act 

1. Speeding/Running a red light

2. Give birth elsewhere 

3. Wouldn’t have access to medical care

· Probability of Harm

1. Not likely 

· Utility 

1. Ambulances are being used elsewhere 

3. Actual Cause – Met for but/for 
4. Assuming it was negligent, was what happed here within the scope of the risks?  No, one of the risks associated with the negligent act was not a man who is on cocaine would hit the P.
	Hypo -- D negligently pollutes a bay with oil. One risk is that the oil will cling to docks and have to be cleaned off. Fire is not a foreseeable risk, however, because everyone involved reasonably believed that the oil cannot catch fire on the cold waters of the bay. Their belief, though reasonable, proved wrong and by a fluke, the oil caught fire and burned the P’s docks. If the scope of the risk rule enunciated and applied  here can the P recover?

· Alleged Negligent Act --- dumping oil 

· Was this negligent? (Breach)

1. Risks

· Contamination of water 

2. Probability of Harm 

1. High

3. Utility 

1. Not really any

· Actual Cause – Met for but/for

· Proximate Cause – Since was not foreseeable, then can’t have proximate cause.

Hypo -- Last year, the P received a blood transfusion. Blood was supplied by the D blood bank, ABO. Neither ABO not anyone else at that time knew that blood could carry an obscure disease, tortosis, much less any way to test for it. However, BO and other blood banks knew that blood could readily be tested for that disease. No such test was made. The blood received by the P carried tortosis, from which the P now suffers. If ABO had screened the blood for contractosis, it would have found signs of that disease and would have rejected the blood for that reason. If ABO was negligent in not screening for contracts is it liable to the P for tortosis?

· Alleged Negligent Act – not testing the blood

· Was this act negligent?

1. Probability of harm

1. Seems high 

2. Risks

1. Could contract contractoisis 

3. Utility

· Proximate Cause – the risk that made this act was negligent is not the risk that came to fruition. 

Hypo -- In violation of hospital policy, a hospital released a patient without an escort after the patient had received sedating medication. The patient got into a pedestrian-automobile accident and police were called. Police got into accident and sues the hospital

· Alleged negligent act = allowing patient to drive after sedation 

· Was this act negligent?

1. Risks 

1. Pedestrian will get into accident 

2. Probability of harm is high

3. No utility

· Actual Cause – But/for is met 

· Proximate Cause – Was the risks associated with the negligent act the risk that came to fruition? No. 

Hypo -- Worker used his employer’s ladder. The ladder had worn, old feet and the worker placed bricks under the feet to help stabilize it. He had asked his supervisor for sandbags or another worker to hold the ladder steady, but did not receive either to assist him. While he was working, the bottom of the ladder slid away from the building and he was injured. Do you think the D’s negligence in providing a deficient ladder was a proximate cause of the P’s injuries?

· Negligent Act = Failure to supply a better ladder

· This one was definitely a proximate cause because the exact risk that made the D negligent to begin with. 


PALSGARF  -- two men try to catch the train. One jumps on and has a package with him. They try to pull him and push him in. The package then falls down on the tracks. It had fireworks which causes scales to fall on the other side of the platform and hits and injures the P. 
· No recovery although could infer there would be bodily harm because the risk of bodily harm was to a different person.
· Not only does the risk have to be foreseeable, the class of persons who is put at risk has to be foreseeable.
SUM UP: Proximate cause is met if:

· Risk that made you negligent is one that risk that come to fruition 

· The negligent act put a class of persons at risk and was the P was within that class of risks. 

THE MANNER OF OCCURRENCE DEFINING THE RISK: FLEXIBILITY AND THE “MECHANISM RULE”
i. Hughes Case:

1. Breach? Yes leaving hole uncovered & unguarded

2. Risks = someone failing in, kids playing in it. Kids will get burnt by latern.

3. But vaporization is unforeseeable

4. End result is foreseeable but not in this particular manner. 

5. Court says manner or mechanism of occurrence does not matter bc fire was foreseeable and it does not matter how that fire occurred as long as the end result is same as what is foreseeable. But other judge says what occurred was just a variance on the foreseeability. 

a. One judge said what occurred was just a variant on the foreseeable 

ii. Doughty Case:

· Breach? Yes negligent to drop lid into vat

· Risk of Harm? Splash & burn
· Whats alt? don’t drop lid in. no cost. Harm is very high
· Actual cause is met

· Proximate cause risk = splash

1. Splash occurred after an eruption

2. Have way you expect injury to happen which is splash when lid was dropped in but splash occurred later after lid erupted from chemical reaction. 

· Court says no proximate cause here: difference is the time factor. Also like entire unforeseeable that lid would chemically break down that way. Damage here was of an entirely different kind from the foreseeable splash. 

Overall Rule -- The manner of the occurrence does matter. The scope of the risk and how the risk plays out matters.

INTERVENING CAUSES 

· Test: were [the intervening acts] reasonably foreseeable by the original tortfeasor at the time of his negligent conduct?
1. For negligent intervening causes, generally have 2 D’s who are negligent. D1 is negligent then D2 comes and does something

2. Usually: D1-D2 scenario with both D’s at fault

Intentional Intervening Causes and the Scope of the Risk
· Marcus v. Staubs - D1 was the 18 year old boy and D2 was the 26 year old procured alcohol for under aged people as the negligent act. Misty who is 14 drives drunk. She steals a car and said they will drive it home. Then there is the horrible accident.

1. Principled Argument – The intervening stealing of  a 14 year old girl is not foreseeable when giving liquor to someone but the important point is that when trying to figure out if an intervening cause is superseding you have to determine what the foreseeable risk is that made the D negligent to begin with.
· Collins – D1 was Construction of building without compliance with fire safety codes and D2 was the arsonist. The question was did the intentional intervening cause supersede for the negligence of the construction building.

1. Court said “It is a foreseeable risk that a fire at an apartment complex, however started, will cause harm to the inhabitants if the owner fails to provide safeguards.”

· Criminal Acts: Courts may be more inclined to hold that criminal intervening acts are unforeseeable.

NEGLIGENT INTERVENING CAUSES
· Identify the 2 D’s: D1’s negligence/D2’s negligence 

· Derdiarian: They set up this kettle and they put this single wooden horse barricade. Driver has a seizure and breaks through wooden horse

1. Identify D1 and D2 -- Felix Contracting Corp/Driver of the vehicle

2. Duty -- Felix alleged negligent act = failing  to properly barricade  around vat and only having 1 person waiving (This didn’t matter because actual cause)

3. Breach – Probability of Harm /Harm v. Utility and Costs of Alternatives 
4. Actual Cause

5. Proximate Cause

1. Look at the foreseeable risks v. the risk that came to fruition

· Foreseeable Risks -- Someone would negligently texting or do something, the wooden barrier wouldn’t stop them and hit someone

· Risk Came to Fruition – Driver subject to kind of seizures who did not take their medicine (not foreseeable) Driver who is doing something negligent is foreseeable (foreseeable)

· Can analyze both in broad or narrow terms.

· Does it matter the way that it occurred was slightly odd?

· No. It matters, but not determinative 

· There is a lot of flexibility built into the mechanism

· Compare: Intentionally pushing over the kettle v. Airplane lands on the site intentionally 

· “If the intervening act is extraordinary under the circumstances, not foreseeable in the normal course of events, or independent or far removed from P’s conduct, it may well be a superseding act which breaks the causal nexus.”
· Ventricelli 

1. D1 – Kinney/ D2 – The driver

2. D1 neg = defective trunk
3. Foreseeable Risks w/ alleged negligent act:

1. The trunk property will get out

2. Can’t see behind you 

3. You might have to stop somewhere to close your trunk 

4. What came to fruition?

1. He was in a parking place and trying to fix his trunk where D2 hit him

2. P would say that the foreseeable risk is that you would have to stop the car and get it and that is exactly what happened here

3. The car was parked so that may be what was forseeable. They weren’t on the side of the road.

4. Court said could have happened regardless of the trunk.

· Court says no proximate cause bc P stopped in safe place, and it just happened that someone hit him. He does not get hit in the location that is foreseeable. 

· If D add more details so you can differentiate how it wasn’t so foreseeable 

Modified – what if they were driving on a highway, truck pops open, stops to fix it, and someone hits them

· This is what the principle foreseeability would be.

SPECIAL (PER SE) RULES
A. THE RESCUE DOCTRINE 

a. Instinctive rescue not needed

i. Does not matter if it was in impulse or thought at 

b. Unbroken Continuity 

i. Talking about immediate rescuers are deemed foreseeable

c. Applies where D injures himself 

i. The D injures does something and negligently injures himself then goes to rescue the P in this case.

ii. Modified Hypo -- Railroad = D who negligently injured the conductor. The P goes to help the conductor who is essentially the D in this case. If P gets injured protecting D, still applies.  

d. Rescuer’s Contributory Negligence

i. Wagner was contributory negligent as he went up instead of looked for Herbert to go down.

ii. Majority rule recognizes comparative fault in case of rescuers but rare they will ever be negligent bc of emergency doctrine.

iii. Minority does not look at comparative fault 
a. Wagner Case: Negligent act = permitting passengers to stand between cars in this situation risk is too high. 

i. Was the risk that occurred foreseeable? Maybe not

ii. Was the person harmed w/in class of people at risk by harm? Yes 

iii. Rescuers are foreseeable, but is what they will do foreseeable? 

iv. Cardozo says “danger invites rescue.” Says rescuer may not have been foreseeable but are held accountable as if it had been. Rescuers are a special case & are deemed foreseeable.

B. THE THICK SKULL RULE 

a. GR -- If you have an underlying foreseeable injury but the extent of the injury is unforeseeable, still find the D liable. 

b. Hammerstein -- P was about 70 years of age was a guest at the D’s hotel. Lived on the 4th floor. Fire alarm falsely went off and P had to go downstairs where he twisted his ankle and got a blister on his foot which caused him to get an infection.

i. Negligent act = defective fire alarm in hotel

1. Why is this negligent? (Probability of harm or actual harm)

ii. Foreseeable Risk – someone will fall
iii. Have an unexpected harm because would expect gangria infection. GR -- Take the victim as you find him/her.

b. Ex: Power lifter hypo: guy in great shape. Gets into minor car accident realizes his body is not perfect bc injured. Let’s himself go mentally/physically. D had to pay for all of it. 

c. Ex: Steve Allen, got in minor fender bender but hit his chest on the wheel. Had preexisting heart condition and died in his sleep. D liable. 

d. Applies to Physical aftermath & Economic aftermath

i. Ex: Don’t get an accident with Lebron James 

C. ACCIDENT AFTERMATH 

a. Marshall v. Nugent – worried that someone is going to come above and hit them as the truck drives the P off the road. P is the passenger in the car. They find the D2 is not negligent. 

i. He acted reasonably due to an emergency. D2 is not negligent.

ii. Leaves D1

1. Look at the original negligent act  = truck driving was partially in their lane 

2. Foreseeable Risks -- swerving someone off the road. Truck would hit a car.

a. However, here no one was hurt. This suggests there may not be the proximate cause 

iii. Court found there was proximate cause

1. “The effort of the courts has been…to confine the liability of a negligent actor to those harmful consequences which result from the operation of the risk, or of a risk, the foreseeability of which rendered the defendant’s conduct negligent.” (It’s the risk rule)

2. “Flexibility is still preserved by the further need of defining the risk, or risks, either narrowly, or more broadly, as seems appropriate and just in the special type of case.”
a. No definite rule. This is all about flexibility 

b. Aftermath of accident like this is foreseeable to a certain point. Foreseeability goes until everything calms. 

c. D would be liable for anything that happens as a result of accident until accident calms.
i. Ex: if he had not been hit, and they pulled the car out and they continue on and 10 miles on the road someone driving negligently hits them. If they try to sue the truck driver, won’t work because things have become placit and normal

d. Could do risk rule analysis and get a lot of weird cases with aftermaths accident but we lumped them into a single proximate cause analysis.
D. SUBSEQUENT MEDICAL NEGLIGENCE
a. Is one of the foreseeable risks is that D will be subject to malpractice when treated? (We do not care here). 
b. Note 4-- The subsequent medical negligence scenario:

i. D1 is negligent 

ii. D2 commits medical negligent treating the P after the injury
RULE -- subsequent medical negligence deemed foreseeable
· Includes negligent transportation to receive medical treatment (negligence in transporting people)
THE SUICIDE CASES 

· What is the intervening act? How do these cases differ from the intervening cause cases we’ve been looking at?
· The suicide cases: Delaney – negligently leaves a firearm out and she ends up taking the gun and pulling the trigger killing herself. P is the one who commits suicide. Here, the allegation that the P is an intervening cause. 

1. Majority: Suicide is extraordinary event as not to be reasonably foreseeable. 

2. Narrow Exceptions: D’s negligence rendered (1) P unable to appreciate self-destructive nature of act; (2) unable to resist it
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